Grand Test : CHT1-171202

SSC CHSL GRAND TEST : 171202 - HINTS AND SOLUTIONS

1.

ANSWER KEY

1 (4) 26 | (4) 51 | (4) 76 | (3)
2 (4) 27 | (1) 52 | (4) 77 | ()
3 (3) 28 | (4) 53 | (2) 78 | (4)
4 (4) 29 | (3) 54 | (2) 79 | 3
5 (4) 30 | (3) 55 | (1) 80 | (3
6 (4) 31 | (3) 56 | (4) 81 | (1)
7 (1) 32 | (4) 57 | (2 82 | (1)
8 (3) 33 | (4) 58 | (4) 83 | (3
9 (4) 34 1 (2 5 | (3) 84 | (3)
10 | (2 35 | (2 60 | (1) 85 | (3)
11 | (2 36 | (2 61 | (1) 86 | (1)
12 | (3) 37 | (3) 62 | (3) 87 | (4)
13 | (2) 38 | (2 63 | (1) 88 | (3)
14 | (2 39 | (4) 64 | (4) 89 | (3
15 | (1) 40 | (1) 65 | (1) 90 | (1)
16 | (3) 41 | (4) 66 | (1) 91 | (2
17 | (3) 42 | (3) 67 | (2 92 | (3)
18 | (3) 43 | (1) 68 | (1) 93 | (4)
19 | (3) 44 | (2) 69 | (1) 94 | (2
20 | (3) 45 | (4) 70 | () 95 | (1)
21 | (4) 46 | (3) 71 | (D) 96 | (3)
22 | (2 47 | (3) 72 | (3) 97 | (3)
23 | (4) 48 | (4) 73 | (4) 98 | (2
24 | (3) 49 | (2 74 | () 99 | (2
25 | (4) 50 | (2) 75 | (3) | 100 | (3)
(4) Except convert, all other words imply squeezing or

reducing.
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10 boys walk 10 km in 10 days, i.e., any number of
boys can walk 10 km in 10 days.

Thereisno ‘C’ letter in the the given
word.Therefore, the word RACE cannot be formed.

F[RAGIMENT = RAGE
F[RAJG M[EIN[T] = TEAR
FRAIGMENT = MEAN

There are two equations and it is not possible to
correlate the two equations as per the information given
in the question.

(1) The sum of upper two numbers gives the lower right

3)

(4)

(2)
)

number while their product is equal to the lower left
number.

Firstarrangement

5+4=9 and5*4=20

Second arrangement

3+8=11and3*8=24

Third arrangememt

9+4=13and9*4=36

West

East

South
EC=EB+BC=(5+4)km=9km
Neither | or Il isimplicit in the statement. Literate has
very general implication. So, it is not necessary that
people of Kerala are well educated and cultured.
India is famous for mango. Similarly Kiwis are found
in New Zealamd.
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12. (3) DLOC= COLD
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ECI= ICE

ICE is COLD.

TOH = HOT

AET = TEA

TEAIis HOT.

580= 5+8+0=13

265=> 2+6+5=13

3713= 3+7+3=13

Similarly,

490 = 4+9+0=13

Except apple, all others are juicy fruits.
Except Diamond, all others are metals. Diamond isan
allotrope of carbon.

45,6, 7

=>6x7+3=42+3=45

15,3,4

=3%x4+3=12+3=15

23,4,5

=4%x5+3=20+3=23

But,

=6x5+5=30+5=35

Except the number 632, all other numbers are
completely divisible by 5.

725 840 475

22145, 22 =168, 2 =95
5 5 5

But, %2 ~126.4

B +2 D +2 = +3 | +1 J
D +3 G +3 J +2 L +1 M
B +2 D +4 H +8 p +16 F
A +2 cC +3 F +2 H +2 J
Meaningful order of words:
3. Open

J
1. Type

J
4. Save

J
2. Print

J
5. Close
A B C

| J K

H L M N D
G F E

21.

22

23.

24.
25.

SSCCHSL : TIER-1

The rectangles are :

IJPO; JKQP; IKNL; LNQO; ABFG; BCEF; ACDH,;
HDEG;

Squares are also rectangles; there are 10 squares;
ABMH; BCDM; HMFG; MDEF; IUML; JKNM,;
MNQP; LMPO; ACEG; IKQO

(4) Some lecturers may be doctors and vice-versa.

)

(4)

®3)
(4)

Some Government servants may be lecturers and vice-
versa.

Some Government sevants may be doctors and vice-
versa.

Some Government servants who are lecturers may be
doctors.

Some doctors who are lecturers may be Government
servants.

Government
Servants

YSATHSIOHE

L = 55,66, 76,89,98
0 = 58,69,79,86,95
A =00,11,20,31,42
D = 03,13,22,32,43

Option | L |O| A | D
(0 |55 |42 36 03
@ |66|4q]31]13
(3 |89 86|11 99
4) |76|95]20]32
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51. (4) 7 jumps of Tom =5 jumps of jerry

RACK

. 5 40 |
.. 8 jJumps of Tom = 7X8 =~ jumps of Jerry

40
.. Required ratio = = 16=40:42=20:21

— R?h =108 = 6x6xh =108

2
Volume of hemi-spherical bowl = Zar®

58. (4) 3
52. (4) Difference of correct and incorred marks
=64-46=18 :[gxnx15><15><15j cu. cm.
18 3
. Correct mean = 52 36 52.5
o2 .55
53. (2) C.P.ofcycle = Rs. 1650 Volume of a bottle = nTR“h = TC><§><§>< 6 cu.cm.
Loss = 8%
: 2 15x15x15
~+ S.P.of cycle .. Number of bottles = % =60
100 - loss % 3xTx—x—x6
=| —— |xCP. 2 2
100 )
59. (3) a+b+c=0(given)
— 100_8><1650 — 92 x1650 = Rs.1518 sa+b=-c=>b+c=-a=c+a=-b
_ . _ _ s (a+b—c)?+(b+c—a)> +(c+a—h)?
54. (2) Population of the illiterate in the village
= (100 - 30)% of 6600 =(-c—c)? +(-a—-a)? +(-b—h)?
_ 6600x70 _ 4ng = (-2¢)? +(-2a)% + (—2h)?
100
. . = 4c® + 4a% +4b% = 4(c® +a® +b?)
Principal x Time x Rate
55. (1) S.I. = 100 60. (1) x-y=2015-2014=1
y—-x=2014-2013=1
z-x=2013-2015=-2
_ 32000x4x10 _ oo 12800
100 X2 ay? 7% —xy—yz—zX
pl(1+ R 4_1 =1(2x2+2y2+222—2xy—2yz—22x)
Cl= 100 2
10 =%(x2+y2—2xy+y2+x2—2yz+22+x2—22x)
=32000||1+—| -1
100 1 , , ,
=S [(x=y)"+(y-x)"+(z-x)]
= 32000 [(1.1)* - 1] = 32000 (1.4641 - 1) 2
= 32000 x 0.4641 = Rs. 14851.2 1 1
.. Required difference = 14851.2 - 12800 = Rs. 2051.2 = §[1+ 1+4]= EX 6=3
56. (4) Percentageincreaseinarea =[X+Y+ﬁj% 1 1 25
' g 100 6L (1) X+ =25=7
X

Here, x = 100%, y = 100%

On squaring both sides,

=[100+100+Mj%=300% 12 (95\2
3] -(3)
57. (2) Volume of metallic sphere X
4 . 4 , 1 ., 625
:Enrszgxnx3><3><3=36n cu. cm. =X +?+2_m
1 ,, 1 _625 , 625-288 337
. Volume of cone = 36 7 cu. cm.SgﬂR h=36n =X +7_m_ T 144 144
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RACK
2
1 337 A
=S|I X—-=| +2=— 64. (4
( x) 144 ® b E
1YV 337 _ 337-288 49
= | X—— = — -_—
x) 144 144 144
o l_ |49 _7
x V144 12 BN c
oxt —i4 = [xz +i2j[x2 —izj DE||BC
X X X . ZDAB = ZABC, ZEAC = ZACB
(2 +i x+1 x—l 65. (1) sin(6 + 18°) = cos 60°
B x2 X X = cos (90° — 30°) = sin 30°
=0+18°=30°
_EX§X1_58975 =0=30°-18°=12°
144 12 12 20736 1
.. €0850 = c0s60° = 3
A
62. (3)
66. (1) A D
‘O
B D C B C
Point ‘O’ is centroid and AD is median. ABCD is a concyclic quadrilateral.
A0 =2 AD 102 A0 ZA+/C=/B+/D=180°
CAYEZAR= S - ZA=180°— /C

10x3 .. cos A = cos(180°—C) = —cosC and cos B =-cosD

= AD =15¢cm

.. Co0sSA +cosB+cosC+cosD

1 15 =Cc0sA+cosB-cosA-cosB=0
—AD=—=5cm
3 3

(@)
O
I

A
67. (2)

63. (1)
12m

N, |
/ B 43 m c

AB = pole = 12 metre
Shadow = BC = 4./3 metre

/BDC =12° From AABC,

.. ZCDP =180°-120° = 60° AB 12
tanf=—=—""=13

CD||AB BC 4.3

.. ZABP =60°= ZCDP = tan 0 = tan60° = 0 = 60°
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68.

69.

70.

71.

(1) Required unit’s digit
= Unit’s digitin the product of 7 x5x8x3x9=0
(1) U=4{1,2,3,4,5,6,7,8}
A={1,23, 4}
AC={x:x e Uandx ¢ A}={5,6,7, 8}
(3) Series=5+55+5655+...+T,
=5(1+11+ 111 +..... ton terms)

5
=§(g+99+999+ ton terms)
=g{(10—1) +(10% D) +....+ (10" 1)}
S i an
- nthterm = 5(10 -1)

1) D C

72.

73.

74.

75.

3)
(4)

(1)

3)

RACK
AC=24cm=d,
BD=32cm=d,
..0D=16cm,0C=12cm
ZCOD =90°

-.CD=+0C? +0D? =122 +162

=144 1 256 = /400 = 20 cm

.. Perimeter of rhombus =4 x CD =4 x 20 =80 cm
Number of examinees getting more than average marks
=72+48+24+8=152.

Number of students who got above 80% marks
=24+8=32

32
.. Required percent = ﬁxlOO =11.72%

Number of students who got marks above 60% and
below 80% =72 + 48 = 120

120x100

: - = 43.95%
. Required percentage 73 0

Number of students who got 40% or less marks
=2+4+12+26=44

44
. Required percentage = ﬁxloo =16.11%



